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BATR & A A a {3 % AR 7’“ F oA F oA a 7 A E n‘L —
vy |0 15 25 29 10 09 08 09 07 0.6 10 14 22 -
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A+ E R3¢ < |108.10.18~19| 51.3 | 779 | 531 | 461 | 46.2 -
. SRR A
BB EARE — — 75 70 65
B R 108.10.18~19 | 51.9 | 75.6 | 53.7 | 49.5 | 45.0
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B G EHFE — — 60 55 50
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BREAEBEIE A FEERS-WRBTRRE108E $4F T RIERS LS S e
S AR RE

AEABKFERI08E 10" 8P ERlFBIARHMALL £
FARPEA) BB R OEAGTRNEB)EARFERREBOC)E 3 0 F
BEP e 7kE ~pH-~DO-~BODs~COD~SS~ @A ~H M & ~ =~ 5 F#F ~
WHESRE ~FF R/ 3G ZE EE IR T2 B
B E - M) s B s TATEA W 8~ ££2KBCu~HgPb~2Zn-
Cd~Ni~Cr)~As FOEPMFLEFT - o RAFLRRTEAE T R E R
2 LRI L AR R RS o ERlS %4 6 2 B 28~F 53 -

# 6 Liplzkia ]\%ﬁ'i/?']%%ﬁf{%

B 2k P
go (R MDL | Av | A | As | B: | B. | Ba | Co| Co | Ca |
1%
pH ; 84 | 83 | 83 | 83 | 83 | 83 | 84 | 83 | 83 |B
K (°0) ~ | 283 | 281 | 279 | 285 | 283 | 282 | 283 | 280 | 278 | —
% 5 £ (mg/l) - 74 | 72 | 71 | 74 | 73 | 72 | 74 | 72 | 71 | 550
BrEw(mgl) | 10 | 58 | 54 | 53 | 40 | 58 | 74 | 50 | 81 | 66 | —
A & (psu) ~ | 312 | 316 | 318 | 3.3 | 315 | 318 | 3L1 | 315 | 318 | —
5 A (m) - 13 13 14

275 B(mg/l)| 1.0 | <1.0 <10 | <10 | <10 | <10 | <10 | <10 | <10 | <i0 | <30

“®7% $(mg/L)| 17 | 66 | 64 | 66 | 62 | 68 | 63 | 61 | 60 | 65 —

Sogi(mg/L) 0.002 | 0.010 | <0.005| 0.014 | 0.005 | 0.005 | 0.005 |<0.005]<0.005|<0.005| -—

% § (mg/L) 0.11 0.59 0.37 0.67 0.53 0.71 0.58 0.43 0.48 0.43 —

% ¥ (mg/L) 0.02 0.05 0.05 0.05 0.06 0.07 0.06 0.05 | <0.05 | <0.05 —

A3Y< § (mg/L) | 0.10 | 053 | <050 | 058 | <0.50 | 0.63 | 055 | <0.50 | <0.50 | <0.50 | —

A f& @ (mg/L) 0.04 022 | <022 | 034 | <0.22 | 0.31 | <0.22 | N.D. | <0.22 | N.D. —

LA @(mg/L) | 0007 | 0.03 | 002 | 0.04 | 002 | 004 | 002 | 002 | ND. | ND. | —

7 75 (mg/L) 1.0 <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 2

wm(mg/l) | 0.0009| ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 0.01

(EFﬁ/?ogln?i) <10 | 35 50 25 45 20 15 50 10 10 ~

# (mg/L) 0.0003 |<0.0020|<0.0020|<0.0020|<0.0020|<0.0020|<0.0020|<0.0020|<0.0020|<0.0020| 0.05
% (mg/L) 0.0002| ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | N.D. |0.005
% (mg/L) 0.0050 |<0.0050|<0.0050|<0.0050|<0.0050|<0.0050|<0.0050|<0.0050|<0.0050(<0.0050| 0.05
7 (mg/L) 0.00015| ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | N.D. |0.001
% (mg/L) 0.0004 [<0.0010] N.D. |<0.0010] N.D. |<0.0010] N.D. | N.D. | N.D. | N.D. | 0.03
4 (mg/L) 0.0004 | N.D. | N.D. |[<0.0010] N.D. | ND. | ND. | ND. | ND. | ND. | —
£-(mg/L) 0.0004| ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
2 (mg/L) 0.0016 | 0.0082 | 0.0064 | 0.0082 | 0.0064 | 0.0073 |<0.0050(<0.0050] N.D. |<0.0050| 0.5

2 %(mg/L)| N.D. | ND. | ND. | ND. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. 0.1
Z5#(mg/L)| N.D. | NND. | NND. | N.D. | ND. | N.D. | N.D. | N.D. | N.D. | N.D. 0.1
<~ fl#>(mg/L)| N.D. | N.D. | ND. | N.D. | N.D. | ND. | N.D. | N.D. | N.D. | N.D. 0.1
= 4>(mg/L)| N.D. | NND. | N.D. | N.D. | NND. | N.D. | N.D. | N.D. | N.D. | N.D. 0.1
Fa #r4>(mg/L) | <0.00250 | <0.00250 | <0.00250 | <0.00250 | <0.00250 | <0.00250 | <0.00250 | <0.00250 | <0.00250 | <0.00250 | 0.1
- &#(mg/L)| N.D. | ND. | ND. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. 0.1

@.: %&L

\
4
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